# RESEARCH ARTICLE | JUNE 02 2023

# A note on convolution theorem for some integral transforms FREE

Deepika Jain; Alok Bhargava ➡; Kalpna Sharma; ... et. al

Check for updates

AIP Conference Proceedings 2699, 020002 (2023) https://doi.org/10.1063/5.0139334



#### Articles You May Be Interested In

Solving fractional PDEs by Elzaki homotopy analysis method

AIP Conference Proceedings (February 2023)

Analytical technique of the fractional Navier-Stokes model by Elzaki transform and homotopy perturbation method

AIP Conference Proceedings (August 2019)

A new analytical method for solving nonlinear biological population model

AIP Conference Proceedings (October 2022)







# L ransforms Deepika Jain<sup>1,a)</sup>, Alok Bhargava<sup>1, b)</sup>, Kalpna Sharma<sup>1, c)</sup>, Manoj Kumar<sup>2, d)</sup> <sup>1</sup>Department of Mathematics & Statistics, Manipal University Jaipur, Jaipur, India <sup>2</sup>Department of Computer and Communication Engineering, Manipal University Jaipur, Jaipur, India

<sup>b)</sup>Corresponding author: alok.bhargava@jaipur.manipal.edu <sup>a)</sup>khandelwaldeepika5@gmail.com, <sup>c)</sup>kalpana.sharma@jaipur.manipal.edu,<sup>d)</sup>bohra.manoj1980@gmail.com

A Note on Convolution Theorem for Some Integral Transforms

**Abstract** In the present paper, generalization of the convolution theorem for Sumudu Transform, Elzaki Transform, Mellin Transform and Natural Transform have been studied, respectively. Further, four corollaries have been derived showing that this study leads to the specific convolution property of the corresponding transformation by specifying parametric values.

Keywords: Convolution Theorem, Laplace Transform, Efros' theorem, Sumudu Transform, Elzaki Transform, Mellin Transform and Natural Transform

#### **INTRODUCTION**

The convolution (f \* g)(t) of two functions f(t) and g(t) is defined as

$$(f * g)(t) = \int_0^t f(u)g(t-u) \ du$$

Graf [7] studied the generalization of the convolution theorem for Laplace Transform and stated the Efros' theorem [5] as under:

Let  $L{f(t)} = F(s)$  and  $L{g(t, \rho)} = G(s)e^{-q(s)\rho}$ , then

$$F[q(s)]G(s) = L\left\{\int_{0}^{\infty} g(t,\rho)f(\rho) \, d\rho\right\}$$
(1)

where  $\rho$  is a parameter and

$$L\{f(t);s\} = F(s) = \int_0^\infty e^{-st} f(t)dt \quad ; Re(s) > 0$$

Further, on taking q(s) = s, (1) gives

$$G(s)e^{-s\rho} = L\{U(t-\rho)g(t-\rho)\}$$

. 00

which further leads to -

$$F[q(s)]G(s) = F(s)G(s) = L\left\{\int_{0}^{t} U(t-\rho)g(t-\rho)f(\rho) d\rho\right\}$$
$$= L\left\{\int_{0}^{t} g(t-\rho)f(\rho) d\rho\right\} = L\{(f*g)(t)\}$$
$$\Rightarrow F(s)G(s) = L\{(f*g)(t)\}$$

where,  $U(t - \rho)$  is the unit step function defined as:

$$U(t-\rho) = \begin{cases} 1 & , t > \rho \\ 0 & , t < \rho \end{cases}$$

International Conference on Advances in Applied and Computational Mathematics AIP Conf. Proc. 2699, 020002-1–020002-5; https://doi.org/10.1063/5.0139334 Published by AIP Publishing. 978-0-7354-4528-4/\$30.00

020002-1

(2)

This study, of course has provided a significant enhancement in the domain of study encompassing a wider range of problems of applied and computational mathematics which happens to be very important also towards filling the gap of previous work of this kind available in the literature.

Motivated by this work, here the authors have extended the concept to provide the generalization of convolution theorem for Elzaki Transform [3,9], Sumudu Transform [6,8], Natural Transform [2,12] and Mellin Transform [10,11].

### Sumudu Transform

The Sumudu transform was introduced by Watugla [6] and some properties and applications were investigated by Belgacem and Karaballi [8]. The transform is derived from the classical Fourier integral and defined over the set of the functions

$$B = \{f(t) | \exists M, \rho_1, \rho_2 > 0 \text{ such that } | f(t) | < M e^{\frac{|t|}{\rho_j}}, t \in (-1)^j * [0, \infty) \}$$
(3)

The Sumudu transform of f(t) is denoted by  $S{f(t)} = F(u)$  and defined as

$$S\{f(t)\} = F(u) = \int_0^\infty f(ut)e^{-t}dt = \frac{1}{u}\int_0^\infty f(t)e^{\frac{-t}{u}}dt \quad ; u \in (\rho_1, \rho_2)$$
(4)

#### Elzaki Transform

The Elzaki transform<sup>5</sup> is defined over the set of functions

 $B = \{f(t)|\exists M, \rho_1, \rho_2 > 0 \text{ such that } |f(t)| < Me^{\frac{|t|}{\rho_j}}, t \in (-1)^j * [0, \infty)\}$ The Elzaki transform of f(t) is denoted by  $E\{f(t)\} = F(u)$  and defined as  $E\{f(t)\} = F(u) = u^2 \int_0^\infty f(ut)e^{-t}dt = u \int_0^\infty f(t)e^{\frac{-t}{u}}dt \qquad ; u \in (\rho_1, \rho_2)$ (5)

#### **Mellin Transform**

If  $f: R_+ \to C$  is a function such that  $f(t) = t^{u-1} \in L^1(R_+)$  for some  $u \in C$ , where u = c + it and  $c \in R, t \in R_+$  then the Mellin Transform [10] of the function f(t) is defined by

$$M\{f(t)\} = F(u) = \int_0^\infty f(t)t^{u-1}dt$$

(6)

(7)

## **Natural Transform**

The Natural transform [2] of the functions Related to a class B, where  $B = \{f(t) | \exists M, \rho_1, \rho_2 > 0 \text{ such that } | f(t) | < Me^{\frac{|t|}{\rho_j}}, t \in (-1)^j * [0, \infty)\}$ . The Natural Transform of the function f(t) > 0 and f(t) = 0 for t < 0 is defined by  $N^+\{f(t)\} = F(s, u) = \int_0^\infty e^{-st} f(ut) dt = \frac{1}{u} \int_0^\infty e^{\frac{-st}{u}} f(t) dt \quad ; s > 0, u > 0$ 

#### MAIN RESULTS

In this section of paper, the generalizations of convolution theorems of Sumudu Transform, Elzaki Transform, Mellin Transform and Natural transform has been developed.

**Theorem 2.1:** Let f(t) and  $g(t,\rho)$  are two functions from the set B, defined in (3) such that their Sumudu transforms are  $S\{f(t)\} = F(u)$  and  $S\{g(t,\rho)\} = G(u)e^{\frac{-\rho}{q(u)}}$ , where  $\rho$  is a parameter, then  $uF[q(u)]G(u) = S\left\{\int_{0}^{\infty}g(t,\rho)f(\rho) d\rho\right\}$ (8)

(9)

**Proof**: In order to establish the theorem, from f(t) and  $g(t, \rho)$  forming a function

$$h(t) = \int_0^\infty g(t, \rho) f(\rho) \ d\rho$$

and taking Sumudu Transform

$$S\{h(t)\} = H(u) = \frac{1}{u} \int_0^\infty e^{\frac{-t}{u}} h(t) dt = \frac{1}{u} \int_0^\infty e^{\frac{-t}{u}} \left\{ \int_0^\infty g(t, \rho) f(\rho) d\rho \right\} dt$$

By changing the order of integrals

$$H(u) = \frac{1}{u} \int_0^\infty f(\rho) \left\{ \int_0^\infty e^{\frac{-t}{u}} g(t, \rho) dt \right\} d\rho = \int_0^\infty f(\rho) S\{g(t, \rho)\} d\rho$$
$$= \int_0^\infty f(\rho) G(u) e^{\frac{-\rho}{q(u)}} d\rho = G(u) \int_0^\infty f(\rho) e^{\frac{-\rho}{q(u)}} d\rho = uF[q(u)]G(u)$$

**Corollary 2.1**: On taking q(u) = u in (9)

$$G(u)e^{-\frac{\rho}{q(u)}} = G(u)e^{-\frac{\rho}{u}} = S\{U(t-\rho)g(t-\rho)\}$$

Which further leads to-

$$uF[q(u)]G(u) = uF(u)G(u) = S\left\{\int_{0}^{\infty} U(t-\rho)g(t-\rho)f(\rho) d\rho\right\}$$
$$= S\left\{\int_{0}^{t} g(t-\rho)f(\rho) d\rho\right\} = S\{(f*g)(t)\}$$

Which is the result of convolution theorem for the Sumudu Transform [6].

**Theorem 2.2**: Let  $E\{f(t)\} = F(u)$  and  $E\{g(t,\rho)\} = G(u)e^{\frac{-\rho}{q(u)}}$  are Elzaki transforms of the functions f(t) and  $g(t,\rho)$  respectively, then

$$\frac{1}{u}F[q(u)]G(u) = E\left\{\int_0^\infty g(t,\,\rho)f(\rho)\,\,d\rho\right\}$$
(10)

Where  $\rho$  is a parameter.

**Proof**: To establish the theorem, from f(t) and  $g(t, \rho)$  forming the integral (9) and apply Elzaki transform on (9) it reduces as

$$E\{h(t)\} = H(u) = u \int_0^\infty e^{\frac{-\rho}{u}} h(t) dt = u \int_0^\infty e^{\frac{-\rho}{u}} \left\{ \int_0^\infty g(t, \rho) f(\rho) d\rho \right\} dt$$

By changing the order of integrals

$$H(u) = \int_0^\infty f(\rho) \left\{ u \int_0^\infty e^{\frac{-\rho}{u}} g(t, \rho) dt \right\} d\rho = \int_0^\infty f(\rho) E\{g(t, \rho)\} d\rho$$
$$= \int_0^\infty f(\rho) G(u) e^{\frac{-\rho}{q(u)}} d\rho = G(u) \int_0^\infty f(\rho) e^{\frac{-\rho}{q(u)}} d\rho$$
$$= \frac{1}{u} F[q(u)] G(u)$$

**Corollary 2.2**: On taking q(u) = u in (10)

$$G(u)e^{-\frac{\rho}{q(u)}} = G(u)e^{-\frac{\rho}{u}} = E\{U(t-\rho)g(t-\rho)\}$$

which further leads to-

$$\frac{1}{u}F(u)G(u) = E\{(f * g)(t)\}$$

Which is the result of convolution theorem for the Elzaki Transform [9,11]. **Theorem 2.3:** Let  $M{f(t)} = F(u)$  and  $M{g(t,\rho)} = G(u)\rho^{q(u)-1}$  are the Mellin Transforms of the function f(t) and  $g(t,\rho)$  respectively, then

$$F[q(u)]G(u) = M\left\{\int_0^\infty g(t,\,\rho)\,f(\rho)\,d\rho\right\}$$
(11)

Where,  $\rho$  is a parameter.

**Proof**: Using the integral (9) and apply Mellin transform, it reduces as

$$M\{h(t)\} = H(u) = \int_0^\infty t^{u-1} h(t) dt = \int_0^\infty t^{u-1} \left\{ \int_0^\infty g(t, \rho) f(\rho) d\rho \right\} dt$$

By changing the order of integrals

$$M\{h(t)\} = \int_{0}^{\infty} f(\rho) \left\{ \int_{0}^{\infty} t^{u-1} g(t, \rho) dt \right\} d\rho = \int_{0}^{\infty} f(\rho) M\{g(t, \rho)\} d\rho$$
  
=  $\int_{0}^{\infty} f(\rho) G(u) \rho^{q(u)-1} d\rho = G(u) \int_{0}^{\infty} f(\rho) \rho^{q(u)-1} d\rho$   
 $H(u) = G(u) F[q(u)]$   
 $M\{h(t)\} = H(u) = F[q(u)]G(u) = M\left\{ \int_{0}^{\infty} g(t, \rho) f(\rho) d\rho \right\}$ 

**Corollary 2.3**: On taking q(u) = u in (11)

$$G(u)\rho^{q(u)-1} = G(u)\rho^{u-1} = M\{U(t-\rho)g(t-\rho)\}$$

which further leads to-

$$F(u)G(u) = M\{(f * g)(t)\}$$

which is the result of convolution theorem for the Mellin Transform [10,11].

**Theorem 2.4**: Let F(s,u) and  $G(s,u)e^{\frac{-q(s)\rho}{u}}$  are Natural transforms of f(t) and  $g(t, \rho)$  respectively, then

$$uF[q(s), u]G(s, u) = N^{+} \left\{ \int_{0}^{\infty} g(t, \rho) f(\rho) \, d\rho \right\}$$
(12)

Where  $\rho$  is a parameter.

**Proof**: Using the integral (9) and taking Natural transform, it reduces as

$$N^{+}\{h(t)\} = H(s,u) = \frac{1}{u} \int_{0}^{\infty} e^{\frac{-st}{u}} h(t) dt = \frac{1}{u} \int_{0}^{\infty} e^{\frac{-st}{u}} \left\{ \int_{0}^{\infty} g(t,\rho) f(\rho) d\rho \right\} dt$$

By changing the order of integrals

$$H(s,u) = \int_0^\infty f(\rho) \left\{ \frac{1}{u} \int_0^\infty e^{\frac{-st}{u}} g(t,\rho) dt \right\} d\rho = \int_0^\infty f(\rho) N^+ \{g(t,\rho)\} d\rho$$
$$= \int_0^\infty f(\rho) G(s,u) e^{\frac{-q(s)\rho}{u}} d\rho = G(s,u) \int_0^\infty f(\rho) e^{\frac{-q(s)\rho}{u}} d\rho$$
$$= uF[q(s),u]G(s,u)$$

**Corollary 2.4**: On taking q(s) = s in (12)

$$G(s,u)e^{\frac{-q(s)\rho}{u}} = G(s,u)e^{\frac{-s\rho}{u}} = N^+ \{U(t-\rho)g(t-\rho)\}$$

which further leads to-

$$uF(s,u)G(s,u) = M\{(f * g)(t)\}$$

which is the result of convolution theorem for the Natural Transform [12].

# **CONCLUDING REMARKS**

The role of convolution theorem related to a transform is very important in finding the solutions of the related problems of computational mathematics. The study discovers the generalization of convolution theorem for Sumudu Transform, Elzaki Transform, Mellin Transform and Natural Transform, which leads the way to generate new properties of these transforms that can be beneficial in solving different problems where the relevant transform can be used. This study will help the researcher to uncover the critical areas of problem solving and applications of transforms of wider domain, that has been done for only Laplace Transform. Therefore, due to the general nature of the results obtained here we can derive number of new and known results by specifying the values of the general functions in the obtained results.

#### REFERENCES

- 1. S. Adhikari, Laplace Transform and its applications, University of Tennessee, (2008).
- 2. Z.H. Khan and W.A. Khan, NUST Journal of Engineering Sciences 1, 127 (2008).

- 3. H. J. Kim, Pure and Applied Mathematics 87, 1314 (2013).
- 4. J. L. Schiff, The Laplace Transform: Theory and Applications, Springer-Verlag New York, Inc, (1998).
- 5. I. N. Sneddon, The use of integral transform (Tata McGraw Hill; New Delhi India, 1979).
- 6. G. K. Watugala, International Journal of Mathematical Education in Science and Technology 24, 35 (1998).
- 7. U. Graf, Applied Laplace Transforms and Z-Transforms for Scientists and Engineers, Birkhäuser Verlag, (2004).
- 8. F. B. M. Belgacen and A. A. Karaballi, Applied Mathematics and Stochastic Analysis (2006).
- 9. T. M. Elzaki and S. M. Elzaki, Advances in Theoretical and Applied Mathematics, 6, 41 (2011).
- 10. P. L. Butzer and S. Jansche, The Journal of Fourier Analysis and Applications 3, 325 (1997).
- 11. A. Kilicman and M. R. K. Ariffin, BULLETIN of the Malaysian Mathematical Sciences Society (Second Series) **25**, 93 (2002).
- 12. F.B.M. Belgacem and R. Silambrasan, Mathematics in Engineering, Science and Aerospace, 3, 99 (2012).